Scat No. :

NQ-116

November-2017
B.Com., Sem.-11l
CC-201 : Economics
(F.conomics of Government Finance)

&

Time : 3 Hours|

AAUALE LA A WAL,

L B 2pias-l 342 oA a4l astfosacal srendl.
YAl

oAtx -l sl srendl, A apas W2 3

'

(A) 2lds [ sel ofis av

(B) 8221 (Tax Avoidance) 4 ‘vasion) 433l dslad salal. 7

(A) ulasila sqq:u-h « eyyal,

(B) Mzt d43it awmh.

3, -n%awh 31 euzel advid auai-l srel srulal. 14

um{lwgt y
vl : eds s [Adu |

LAl 24U 244 d- WSl Rl 3

Aual

1%z Bal-Al 1R ALY 1AL QAR 2 s el [aig wal,
NQ-116 1 P-T;i



5. wRl Esey euldl : (MCOs) :

(N
(2)
(3)
(4)
(5)
(6)
(7)
(8)
(V)
(10)
(1)

(12)

(13)

(14)

Q-116

615 cauc2A0l ALGEA AL U SEd 89

(1)  UMEVIE (h) *ilaia (o) B sl (4) AR
AL 2Uets A MRAAL e 2A2E Mdz 2l

(1) <ulsd (b) 27 (¢) 520 () Ul
A2l su Bt 2isda=l Ea e s

(a) CHRe (b) I (€) %AAUA. (d) Bl
241315 e29 555 vl vaua A2l HerdAlL 8 7

(a) Wbis (b) zvsdld (o) el (d) Hdyell
5 531 ALeusla ol i1 ez WAl 21 QU d 51 5 6 7

(0) (B 5% (b) M3La1 53 (¢) Medst 63 () ROUBLLER
g4 ALCUSIAL G 4= YR WAL 4 Sl 9 |

(a)  SUEL (b) 5210 (¢) s3fadd () BRRUA
[BaatiA 532 AUASAL AR AU S3ALEIHL_ U,

(2) AUHWEL (b) MRl (c) 2l (d) 2™
DRl 58 g SR8 REAR B 1 '

(a) SR2U01 (b) &4, (¢) &R0 (d) QA

RizgoL w2 2l A2 585 W2 6 7
() oels A2 (b) 2s@lau-e o) At Aare  (d) Qe w2

ezl wi-ilszeEAL AL afell Agils 2lsR 24 8.

I

(a) 2000 (1), 2005 (c) 1981 (d) 1991
otRetHi w5201 A HI EFEA AL A2l v @M Sl gRLUALES ?
() Geowesl (b)) LAl (¢) U (d) AR U
URSR ol AlAERE RS AU,
(a) Gewgslueg (b) AcWESI RS
(¢) ‘Meicuked | (d) Arglued
b el M 2tidRs mdz Rl ol (e W21 uR WAL 2Ll 2]l
(a) G (b) {5l (¢) s (d) iz
R 82 BetlAl Bald uaed AL g Hi2 el M3 S
@) (-2 A4 (b) 2RUCY L
() i Gelbllsze O (d) AR 3uosl e wa

2



SeatNo.: | 0OS ULy
NQ-116
November-2017
B.Com., Sem.-111

CC-201 : Economics
(Economics of Government Finance)

Time : 3 Hours|

Instruction :  All questions carry equal marks.

I.  State the meaning and features of mixed economy.
OR

Describe the market failure. Explain the role of Governm
failure.

2. (A) Examingc the role of taxation in cconomic dev 7

(B) Distinguish between Tax Avoidance a 7
OR

(A) State the meaning and
(B) Explain the merits and

3.  Mention the importanc
Public Expenditu 14
(A) Wn note on - “Privatisation™. 7

ote on -~ “Disinvestment Policy of Public Enterpriscs. 7
14

e meaning and types of Public Dept.
OR

Discuss the controversary of Learner
Debt. '

and Buchanan in the context of burden of Public

NQ-1164 3 P.T.0.



S Mulnple Chotee Questrons
(1) Inwlich CURIIOMN avsiem, coustimer is the L!I‘Ih of the ma

(2)
(3)
(4)

(3)

(6)

(7)

(%)

()

(10)

(1

rhet 7

(hy C apitalism

(a)  Socralism
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Study of whom Revenue and Expenditure means public finance

(@)  Ferson (h) State (¢) Family ld) Firm

Which of the following countnies has Unitary Finance: ‘-;yuh.‘n‘l

(a) Inda (h) France (¢) US.A. () Canada

Which deticit is important economically ™ '

(a)  Primary (b) Fiscal (¢) Budgctary (<) 3‘:‘ \

In which tax. tax burden cannot be shifted 1o other person B

(2)  Regressive tax (b) Indirect taxes

(c) Direet taves () l‘nlru'lrliﬂﬂ“l lax

To shift, monetary burden of 12x to other pl.l'ﬂtm i is l.‘.‘iI"L‘d

(a) Tax evasion

(¢) Taxshiluing

Under regressive tax, tax rate

(0)  proporional  (b) increases

Which activity is tllegal from the follow:

()  Tax svondance (b)) Debn

Which grants are given tor educat

(a) Block gram

(¢) General grant ()

The privatisation policy was n India duning the year of

@ 2000 & (¢) 1981 () 1991

Who were the muc Ins rivatization and disinvestment in India?

(a) Produce Traders (¢) Peuple (¢) Labour Union
(12) Governme huild a bridge. such type of debt is called

(@) P (b) Unproductive debt

(¢) ¢ debt (d) Inactive debt

(13)
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*The burden of internal public debt cannot be shifled on

senerations.,
mer (b) Buchanan (¢) Meede (d) Domar

" Public debt has become burdensome because of the use of the following

Unplanned expenditure

Planned expenditure

Basic Industnalisation

For Intrastructural Facility expenditure
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